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Did the 3329 fine him not to return it — FTIIRY J129 Tvap O

OVERVIEW

"R posed a query whether an extended hand into another mwn will be considered a
n°om73, meaning did the 7327 fine him! and prevent him from returning his hand
back to where his body is. N800 questions the idea of a fine; it would seem that it
is a prohibition? and not (merely) a fine.
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It is the view of the >''2 that the text reads ¥1170K 2 (did the 7127 prohibit him),
but the text does not read yme1p °» (did they fine him).

mooin explains the reason for his X07°3:
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For only shortly later in the X712 when we established that both n1n>92 maintain
that his extended hand is not considered a n»»93; only then did the X say that

(one Xn*72 maintains that) it is forbidden to return the hand because of a ©ap.
However now when we are assuming (according to one side of the query) that 17> is &7 n°5173
then it is forbidden as an m10°X and not (merely) because of a 01p.>

moon (provisionally) justifies the Xo7°3 of mo1p:
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And perhaps we can say that this which the o°non1 made his hand like a nv»=3,

! The 13127 may have fined him since he did something ‘illegal’ by extending his hand to another mwn. He was in the
process of committing an XX MOX.

2 A rabbinic prohibition is not because of a fine (that the person did something wrong), but rather because the 1127
were concerned that this act can lead to an Xn»MRT MO°X. In this case if we allow him to return his hand, it may
cause (others) to mistakenly allow making a complete 7101377.

3 1f »n7 n°onn05 is a oI that means that if we assume "7 N°91n723 XY there is no 01p; how can the X3 say that X
n7 N°9n125 and nevertheless it is MOX because of a 01p?! This proves that »7 N°9n133 is an NOX.

4 See ‘Thinking it over # 3.

5 The "w1nn amends this to read “"wan IR'. The 2"n has it as »"yan1'. See w"x77 Moo who explains that if the
1127 deemed it as a n°9n1> (because of a 031p) then even if he extended his hand *"wan he will be forbidden to return it
(mownwn) because the 1127 fined him since he did not return his hand before naw, and similarly if he extended his
hand on xw2 naw he will be forbidden to bring it back because they made a 017 by a 2w on account of 7°;
however if we maintain 7 n°»735 W2, and it is merely a 01 then that 03p is only if he extended his hand 7ownwn
and 712. The w"X1 does not state clearly what would be the ruling (if we maintain »»7 n°on32) if it was both >"wan
and » w2 (he did not realize nownwn that it is N2w). The X"w7an retains our X0 (which is 0 7Wwan aw3) and it
seems that even if it is 2Ww2 and *"wan it will be MoR. The 27717 WY maintains that if it is either (7ownwn) aw31 or
(7°112) *"wan it will be MoR even if we maintain "7 N°21725 XY, and if it is *»7 N°91722 then it is MOR even W2
"yan.
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that is also because of a 81p (however it is a different type of 01p than what the
XT3 later calls a DI when we assume %7 n°on730 W?). And the difference
whether it is ‘merely’ a 017 (and not N°21722 as the X mx explains later), or whether
his hand is considered a n°9n72 because of a 01p (as we assume now in the query),
will be whether it is TR (even) if he extended his hand inadvertently (or) [and]

while it was still Friday. If it is merely a 01p (as the X3 explains later when we maintain
M7 N¥1MI3 XY), he will be permitted to return his hand since he did nothing illegal (on purpose);
if however, the 1327 made his hand a n*>»75 (because of a 1P as we maintain now in the query),
then he will be prohibited from returning his hand in these cases as well.

SUMMARY

The query of »aX was whether the 1127 enacted an n*»72 T0°X to prohibit the
person from retracting his hand, but not that they (merely) punished him and
prohibited him to retract his hand. The prohibition of n°%75 MoK (even if it based
on a dip) extends even to cases of >"Wwan 2w as opposed to a mere 03P which will
prohibit him only mownwn 712,

THINKING IT OVER

1. »ax prefaced his query by first stating 121 7"72 X? WX 27X %W 17°, and only
afterwards did he ask n°9n122 nwynw 17%. Would this be an indicator whether the
X072 should be 7170X or M01P?

2. What is the logic that if it is merely a 01p then it is MOX only 7oWAWwWN 7172;
however if the 037 is that it is a n°2»73 then it is MOX even " yan Aw2? Why should
a 01p be associated with his hand becoming a n>9175?

3. Is there a difference between mooIn initial stance (that the X073 is M7OK), and
the latter explanation of X03p "7 >n1 "5 RN ?’

¢ See ‘Thinking it over # 2.
7 See footnote # 4.
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